MODEL 3178 HD TRANSMISSION JACK

PART KIT INCLUDES
ORDER NUMBER | KIT DESCRIPTION | REF. # DESCRIPTION
3178HU HYDRAULIC 34 |COMPLETE HYDRAULIC UNIT

UNIT

3178P10 SADDLE KIT 10  |SADDLE (LEFT)

13 |SADDLE (RIGHT)

14  |BOLT M12X35 (4PCS)
3178P12 FINGER KIT 8 WING NUT M12 (4PCS)

9 WASHER M12 (4PCS)

11  |BOLT M12X35 (4PCS)

12 |FINGERS (4PCS)
3178P25 HEAD ADJUSTING 21 |M12 LOCK NUT

SCREW KIT 22 |WASHER M12 (2PCS)

23 |AXLE (PLATE)

24 |AXLE (BASE)

25  |ADJUSTING SCREW
3178P32 HEAD ADJUSTING 4 CIRCLIP

SCREW KIT 27  |HEXNUT M14

28 |WASHER M14

29  |BEARING (2PCS)

30  |AXLE (LIFTING)

31  |AXLE (BASE)

32 |ADJUSTING SCREW
3178P40 CASTER COMPLETH 26  |GREASE FITTING

40 |CASTER ASSEMBLY

41  |SCREwBOLT

3178RKK

REPAIR KIT

COMPLETE O-RING & SEAL KIT




When it comes to quality car jacks, AFF is the brand you can depend on.



https://www.toolsid.com/jacks.html
https://www.toolsid.com/aff/



